@ %E Multiplizie;eerkll r?;fp]gfezri;neilzahlen mit
Name: Datum: Ergebnis:
4,954 x 100000 = 7,565 x 1000000 =

5,536 x 100000 = 2,912 x 1000 =

7,478 x 1000 = 7,046 x 10 =

2,563 x 10 = 8,761 x 1000 =

2,87 x 10000 = 1,997 x 100000 =

2, 131 x 1000000 = 8,301 x 1000 =

5,162 x 1000 = 7,269 x 10 =

3,102 x 1000 = 2,447 x 10000 =

3, 834 x 100000 = 3,778 x 1000000 =

2,699 x 100000 = 3,954 x 10000 =
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@ %E Multiplizie;zr;l :elfp I;teezri;;lzahlen mit
Name: Datum: Ergebnis:
4, 954 x 100000 = 495400 7,565 x 1000000 = 7565000

5,536 x 100000 = 553600 2,912 x 1000 = 2912

7,478 x 1000 = 7478 7,046 x 10 = 70.46

2,563 x 10 =25.63 8,761 x 1000 = 8761

2, 87 x 10000 = 28700 1,997 x 100000 = 199700

2, 131 x 1000000 = 2131000 8,301 x 1000 = 8301

5,162 x 1000 = 5162 7,269 x 10 = 72.69

3,102 x 1000 = 3102 2,447 x 10000 = 24470

3, 834 x 100000 = 383400 3, 778 x 1000000 = 3778000

2,699 x 100000 = 269900 3,954 x 10000 = 39540
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